EAGRAROBREERT — 2 N— ABISH —F 202137118 (K) 26E&EESH

m%EEkE,\ (PR Jpn3 H53FR4KLEOP \ [X2) 7 \ [EEim]  — | 4 () 19000 &
[A&E£] 1 7 22,000,000 2 3% :7,040,000 33 :3,960,000 4 3% :2,640,000 ™ 5 3&:1,760,000 M
& % B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
R 7 | JIERH# 2:00. —4-3- . - EAE (hR)
1 7 Y F e — 4 550 (0_0)0 5-4-3-1 | 38.0 1 :15)72) =R
T4 =TZh4 B:HTz1Y Rl e
S S 4 4 | AERH 2:00.7 1-1-1-2 [39.0| — 4 520 | BIRA— (k)
208l12| N>V FTIZIX 54.0 @) (a) | R L= TS5 TLy KR
RE—TRA LA B:¥v-—O3H—I BEZX2Y K
5 4t 5 | C. Jbx—Jb 2:00.9 2-2-2-3 | 39.0| — 2 510 | B2 (hR)
3/7/10|R—FTLZX 57.0 m 4o | B B-FHr-257
LB/ NT—=R B:IRFYa1-2X ellikse]
TLx # o5 | HR# 2:01.5 7-5-5-5 139.2| — 5 | 452 |fEAREER (FEH)
41111~ ~ 54.0 3) (o) | &) F-x—
R:O—KAFA7 O XA 87 b A
. _ . fEE— 2:01. -3-3- . - ERAE= (Fhak)
556 JALAZT 74 R "9 5.0 (7(275) §394 395 6 32; %) 91>
L:xrivvH/ ¥t Ba-Fv KAy b FREANIS
‘ . 7 | Fmm= 2:03. -1-1-11(37.9 | — RS )
6lolg| / —Tnsa—2 4t ol (50{3% 11-11-11-11{ 37.9 7 ?_232) e

L:hT/ RI47 B:7AXRAN—h NYERNTT— L

> ) O—T Y T 4 8 | HHEfE— 2:04.0 8-8-8-7 |40.6| — 10 | 496 |EKEL (k)

LNy shTr BiYvAZ TETR BRAYS
8|55 ;;;ﬁ,g?jgzﬂﬁ/ﬁzl}w 44 gﬁuéaﬂ 2:(055).1 6-6-6-6 |42.7| — 3 <4+942) Ezgé (k)
] 4| K ')—A%*f—?’)b - H 6 573#(13%% 2:(066).3 10-10-10-10{ 41.4 | — | 12 (4_5;2) i;’g? (BEE)
LIVAT AR BUNMVN=ZTA K BEER
10l8l11 #‘/7—_“/,_\:[', é 49 ﬁ?ﬁﬁ’@ (21:016/.26) 9-9-9-9 |42.1| — 9 f:) ﬁggi (BEE)
LEBWNTITFANRTE BENT 2 FH2N— J|A  Ei
11 8 x,r:/a?j.#t;jf o 211 ggﬁ%gl 2:(078>.l 12-12-12-12| 41.3 | — | 11 <4+830) ’#?ﬁz (BEE)
RiN=Y754 B rILIANTAR YA TS
12X 3 7]?")‘!/’5!?4” J—= . 7 %EE 2(:30/%2 4-7-7-8 | 44.9| — 8 <4+313) gg;ﬁ;‘ (BHE)
R:xF1=T7—Z BAXIaAvH— 2AIT7— L
@ 1 —F—EAIE
| 3=7r= 12,10,6,3,7,5,1,2,11,4,9,8
23 =7r= 12,10,6,7,1,5,3,2,11,4,9,8
33—F— |12,10,(6,7),1,5,3,2,11,4,9,8
430—F— 7,12,10,6,1,5,2,3,11,4,9,8
[ N3
-y 7 130H 794K 7-12 250/ P & 6-8 920MH 3IER 7-10-12 530H
7 B 7 100M 7-10 1304 5= =2 790M & 7-12-10 2,400
12 200 10-12 390M BB 7-12 1,110MH
10 120H

ARICOVWTRDTEEERROODE. TR LI,



